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Multiple Choice questions

Q.1 | Insert commas and write in the Indian system of numeration: 209876541

A| 2,0987,6541 | B | 20,98,76,541 | C | 209,876,541 |D| 2,098,76,541
Q.2 | The number that represents 4 x 10000 +5 x 100 + 7 x10 + 9 is

A 45790 B 405079 C 40579 D 405790
Q.3 | The numerical for three lakh four thousand seven hundred ninety is

A 3,04,790 B 3,40,790 C 3,04,00,790 |D 3,04,709
Q.4 | 1 added to the greatest 5-digit number is

A 99,999 B | 10,000 C 1,00,000 D | 10,00,000
Q.5 | Place commas correctly and write the numeral for: Seventy million three hundred

thousand four hundred seventy six

A 7,030,476 B | 70300470 | C 70,30,476 D 70,300,476
Q.6 | Round off 3467 to its nearest hundreds

A 3460 B 3400 C 3500 D 3467
Q.7 | The Roman numeral for 76 is

Al VIIVI B LXXVI C LXVII D XLVI
Q.8 | A watch manufacturing company supplies 675 watches on an average in a day. How

many watches will be supplied in the month of April 2022?

A 20255 B 20150 C 21250 D 20250
Q.9 A bookstore sold 1365 books in the month of January, 1250 in the month of February

and 1658 books in the month of March. Find the total number of books sold in all the
three months together.

A

4273

B

4123

C

4173

D

4263
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Q.10

A large vessel contains 10 litres 500 ml of milk. If 4 litres 350 ml of milk is poured into
another container, find the quantity of milk left in the large vessel.

A| 6 litres 250 ml B | 6litres150ml | C | 4litres250ml | D| 5 litres 250 ml

FILL IN THE BLANKS

If 360 apples are packed in boxes such that each box contains 60 apples, then the number

Q1 of boxes required to pack all the apples is
Q.12 | 10 million = crores
Q.13 | 100 thousand = lakh
Q.14 | The Roman numeral for 97 is
The difference between the greatest and smallest 4-digit number formed by using the
Q.15 ;
numbers 2,0,1,9 is
CASE STUDY: A shopkeeper has 325000
with him. He placed an order for 15 table
fans at the rate of 1520 each for his fan
shop. Based on the given situation, answer
the questions that follow.
Q.16 | Find the cost of 15 table fans.
A % 25000 B 322800 C %22000 D %2800
Q.17 | Will the shopkeeper be able to buy 25 table fans with the amount of money he has?
A| Yes B No C Canno_t be D | None of these
determined
Q.18 | Round off the cost of a table fan to its nearest hundred.
A %1500 B %1520 C %1620 D %1600
Q.19 | Write the number of table fans ordered as a Roman numeral.
A XV B VX C XV D LV
Q.20 | Find the amount of money left with him after the purchace of 15 table fans.

A %2000 B %2500 C X22000 D %2200
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ANSWERS

1. [B)20,98,76,541 C)40,579 3. [A)3,04,790 C)1,00,000
5. | D)70,300,476 C)3500 7. | B)LXXVI D)20250
9. |A)4273 .| B) 6 Litres 150 mL | 11. | 6 100

13. |1 [ xevil 15. 8181 B)22800
17. |B)NO .| A)Z1500 19. | C)XV D)2200
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